
Answer on Question #91150 - PHYSICS/MECHANICS - RELATIVITY 

 

1. 

                 Let block have travelled h depth in vertical direction,final 

velocity of the block ,by applying newton law of motion 

                                     V2= u2+2*g*h 

                                     V =√𝑢2 + 2𝑔ℎ                        --------------(1) 

          And,         h= r(1- COSθ)                 ----------------------------(2) 

 At the moment of separation of block from hemisphere, 

         ‘’Centrifugal force = Component of gravity force in the direction of centre, 

                                            (m*v2)/r = m*g * COSθ 

                                           (u2+2*g*h)/r= g * COSθ     

                                      COSθ = (u2+2*g*r)/(3*g*r) 

         Angle made from the vertical, θ= 𝑪OS−1 ((u2+2*g*r)/(3*g*r)) 
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